8og © 880 864
All Rights Reserved

@?ﬁ §§ﬂ$9§; @o?&gm f ;T:; ﬁd},};rtm&nt of f;:dm
e 56 soBEE 2019 |
Third Term Test, 2019

11 @& I 50 eepd |
Grade 11 [ ofioa - I ] [ Two hours |

¢ ud» BuEEO © 000 vyed ® BEnd suwsim.

o Aemiden8 8uge® ydmde NO108 B8Endy ¢ e 02 18 ¢, B emidens o gdmaen
HO10C B8O 3¢ CRe 10 A8 ¢ 88ed.

Depart nsggii;qf‘mﬁ

@
ﬁsﬂ:}sr\tmw’ ot p

A em0¢es

0l. e E» Grommnn 5O eeo d8om® ece D8 o 1200 = ¢ »o» end
Hoed netdc; D8z 61. 30000 =5 8 Db8 O8ex® A¢ YBemw EeILD s ¢?

02. 2.65=10"""%81g26.58 goc Boe?

3

03. Ommd OOS8s3 1 3 80 8800 885553 03 ecemnd € 04 5 oned 8, @ @D
u®rerewns’ % =5 530 8800 8Reys’ 03 ecemnd 8 Bus o 0Oe? ‘

04. 800 B3 3600 23 § OreBwes BROD Boc 400 2 BegmOEB= B 8O HEES3
8008, DeBewss w8 4l 8GBOD EmOB) ICHB eSO €S &?

05. &0 =os3™.

01



06.

ABC=40°, BAC=60°¢ BC=CD¢ ® CBD 8 g0
Bee?

07. 4%y, xy,3x) oo 88c gmiem em8 RO ey QRIS GLINTID.
08. cos60°= —;—, sin 60° = -":32:, tan 60°={3 eces g 18 80 Gred ¢SBedm
e300 1830053 AB o eeinsim.
09. @eeuisnd edBum ved ves S ¢ 40 ves 135 ¢ 00. egdBed ewig anImn eewSI.

10.

2x* - x - 6 g®E RDOC @R 0ce BusiD.

11.

e0m & 1S e0R01 @053 Sred ©3¢Hss WOBID.
(AUB)I ={8},A’={4,6,8} A— —B

12.

Srved & a8 ¢odo amd Sewmien Sed0ed 08810 Genwsis.

6cm
12cm

4cm

02



13.

cwed AB=BC o gnc AﬁC =Xx®0 AéB =2Xx 580 X 8 g0 @353, A

B C

14.

BOC go 1 8O 6 emz3 w1y 18 ©308S cog, 0@ @0Bed®2 yOOD L. ewd OB
010023 C13e® £50wIODOG @e0wID.

15.

RABBweL 0dsde grIde 88 ¢d @gg 80'\
C geddadenss ¢Ped. §c @ﬁéf@ 2 nc © 60
DOBDE OB EI®en ¢? 40"
20“ :
0 3 5 —

4
:gsa@cs (B3R3zp)

16.

©2 88s300wm onec gds 14cm ¢ o a8 dBodEs 1760cm’ ¢ »® 88sINced =t
@ENBHID. (T = “Z— ot ©5I5)

7

17.

3 '1 1 — X
(1) (3) - (5) srorsmccomms

18.

X'-49=0 Becsin.

19.

Srved & 418 ¢t amd CBEs B8O @055y

03



20.

21.

O v Dedmed edsigs 0. AD = DC,AﬁC =50" 0 OAD 8
$OG GENBBID.
O
| A s0lD” /¢
B

22.

csed AB = 10cm, BC =24cm ¢ &» ans AB 8 A

Pasczes 0. AE 8 8o etinsim.
D E
C

23.

B

osiBon 8us ofhn Bewd 8es 4
Cos e ¢1eeds’ BEswse ©€® 20+
0 ¢ HHe obadws oum 154----
¢(Sed. SHe ebds gregeds’ O8 104-c-cfeamnannn-
BedBIm dPgps ©dybes s ...
20535, )

' 0

24.

XY s A 88 Da55m00 1€ SesbamaS. XAD = 50",
DAC = 40° , ACB = 60° ¢ ©® »® CAB 8 goc

@e3BBI.

25.

A B cmes 00w ez 0883 @de 3cm O 883
Datmens g1€n oD g. Dined esige O

s C 0e@orRed gdas SB@ien obande
¢€ 30053 g™, | !

04



11 e ®HDG 1

B e210¢s

(01) (a) gidy cfedum o8 B e 8o ©eSs o ©F 0 D CESs
% = eegeds’ 00 83xetd 890» cE.

(1) oemeeeds’ engd 83 emde § zmzé)ic?@@bf 00 ©o@dzS ¢?

(i) o0 w@GeE 8» 18 Ben G eteeeds’ cDO 83m emdetd

Cowss _fl?f =B w0 QDO ¢ O eegredsl O 80m» emde §O
DINCECHS WOT BoDes €?

(ill) =0 @0 WO ¢ e S0cm »® eweeeds 0 83m emdes
e®en =e3¢?

(b) (—g— - %) + 2 % 230 WO,

(02) OBE ®wO e 8 o 5,000,000 830 Drwmws Bor Ae Bema 25% =5 O
Bo@g 0800 ¢ 10% =3 0 810 (VAT) g 8m0¢ caon o8¢, o® e 50 §Es

g8 4% 830 eenBud @i @8 D8 DS afcy 5 B code B ©8e
@B ¢ G ©f.

(i) 8cr guomecs caes Goe wed eode @ 89 ey emwden ¢?

05



(i) Qs @0 evds gy g0 §¢c emwdes ¢?

(il) gerv @D evds gg DIBPED gon e ¢?

(iv) 083 ®@wd Boy dg VAT g 00ddd 8¢gdn »0 9y ovdo gn §9 8¢
es®en ¢?

(03)

O e ctdene 1508 EHI

0@ eug ©0s 8nsd 180 = Bew
NG e CSOWE PIWICH BHD

DB DB

D0

Bewy Bew Q6D emidhos’ Begsf ©ens

s Dm0 enidiesl  Bes’ Bexs
0 005 ecennm ¢ 01hd Buo Becs

D610 eniciesl Beysd e Bewr Buw
D6®  emdchos Besd oemm 9z
eeQeuE ¢ O and mEI Osn gD

enicios 8y omm 75 8. D18 Besca

() =0 Bec D000 ge eln daded enieme ewInsim.

(i) gons Bes NWHOHO g oBlm AL emies ewmim § g8 O gedsed
" ¢S30BIB.

06



(i) ©g0 20BE Bee WD wem 9ce® me Bueoss 10 ccons mumses Suo
00O EE® e »O edmEd § (in wem mves D WD goe el
Deidded emiarn ewicsim. ‘

(04) ©@0T dcwum wdnd 8y »A BORDE Swed cSed. D
0w gl Oudomid e@ReSs @ HnBLceSst

0058 0. bl Ditmed SEwdwmw Tcm ¢ pHBBued
©@HC 3¢ ¢ gmd e®ID ¢d Tem ¢ ©d.

(n = —2% OEE ©WIGINSI) A
(1) obd DaFe020 emets OBWAEE @esesim.
E Tem
. ) N [
(1) »88wed® dYvdcEs abd Didmed BIcHs ©®xs3 B 7om C

3 Qees »® CD 8o ewicsis.

(1i1)) AEB ©oes €o eesicssinm.

(iv) AD =20.4cm ece 0o nwied =888¢ owiwsis.

07



(05) audz=e BGimwm D15300 e @ 500 pmzs gD BRH. g eBns’ O 95
08 Dowmes Bed 9Om0 Bw gnd, 953 2RI »OE Dwwmes @DmO v .

(1) D @dmY wIed elweendd &
Bn€ ¢dmas & 8 ey ¢ X
CReE 00 Bowsers mOTm. (0153 SO
V,, Ve 83 g0 G,, G,, G, ecee
30 go.)

N

| B

w

~

~

©¢d® OO ®
< < oo

—

N N LSS N—
Vl VZ GI G2 GB
s€f OO w@i®

S
rd

(i) @0t el dmd Bw Dwm @ dived Dwz Be® ©8HIBHDG
@E0BBI. :

(i) @®@® DWW»DED 4 = e®izs dBved (Manual) Dz O god O Diwmez
0B (Auto) Dwmes ©0. gum olimeernd @wE gdyubie O v
vom & grm. 0 ©®mIBdmnd OB 01 D dyten woBIs.

Bef Do»HB ©e¢D®) DIDBB
OO 0® QOO 30®

30055 DD
€30@5 DIDB)
3wy D

€30@2d5 DI

Do Doy

e3Dw@oSw Do

(iv) o> ©@Oum &yeds’ @ded el dbo ecenmsl Dwm e 800e®
38918006  @e300353.

08



Bug & 8300 388K
All Rights Reserved

r~

_ Department of Ed

e 96 sbasns 2019
Third Term Test, 2019 ]
11 e@ & ' . 56 Ood
Grade 11 [ oo - 11 ] Three hours |
coeed:

o A8 gdm 53 ¢, Bemid8s gdm 5 = ¢ emidiens gz ¢pwnd 8Endt wvwsim.
o 7@ gdn® BOGE BT 3¢ CRG 10 183 88e0d.

e gdw r iy e h eFdndw 8810 %nrzh ¢gds r Om evicem 85010 %nr3q @d.

A o108

(01)

y=x'—dx -1 Bood getmdns §:180 e wmed B0m c¢ gudybe gon dDedE vom
g aw.

X -1 0 1 2 3 4 5
y |4 -1 -4 -4

Xx=280y8 gou cn535.

X g Cods qmen fods mE 0de® 10 83 Swom Om Sowes Ometd
s8®1enc 06 OB yedmd wR8WD gum Boed yedmids g&xis.

x8 gos 2<x <5 ohes neg y 8 01880 BLnd m»osim.

(i1)
(iii)
(iv)
v)

8w y = (x - a) + b 41060 g@ DSBIBY.

gedond areeds’ X' -4x -1 =08 0 gce 8 {5 8 qoo vef ¢edudims 8o
3053,

(02)

OIS D Bwedm g & 40 3 e Bodm @4 w0t BEAGD CROS
emoRCT 8D et WO G AL DrIsSns cwn Oredst ¢=ed.

2300053 €300

g5 ©em

10 - 24
02

25-39
05

40 - 54
10

- 55-69
12

70 - 84
08

85-99
03

A (GS - 69) o538 gtoded @A g0 CEREBD ORBHBG ECH EO® ©W]

853900853 e Emnd Heedm ODLZS DS YOIghn iessim ghen 38D
@E30BBIB.

(i)
(i) e0Dox Gocws! Heedd® ©ewr D1dm Bwue® ot 1200 =5 ¢ O3 ©ws goce:

BB K0S godBn ddvms e O 480 B ¢ »® goomed gedEEm G
Bem0 es®en ¢?

288 8» 60 8 [eedn B8 ARIENECIS O 0HSI €3ABID @EIWSI.

01



(03)

Sed etddewns’ 8xi® Bw LB ®0md c@e ot 2,000,000 =5 02 8x® wiBeni8mes
oD gaIcEd @sidm G2

(2)

(b)

e8emiBmens’ e, emdemd Jr S @185 D8 e evd®m B@IKOD
e0e® edeg ee 8c Ot 40 = § ©s@wed® et 20000 =& 8c8 oxisn c2.
Dbz adenmed RIan CRICHD e Ji. 50 1857 ¢ Snen e Bxed

§eC om0t eder g 8@ O 55 & § emdemd Jr. 8§ 85 e evdm
O 301002 et BEWO 0. gD dbsws gdemed Bud RWIR CRAICOD)

@0t J1. 60 853 Bper Bud GG o 0B, dged Hs esden ¢?

sBewidmed 988 ewide 15% B D8 DCen@ evdm epdm gddy
@¢®0 e 0 8ud 8¢ G 0. Ay R ©FF G G emden ¢?

(04)

A oy 20m & ces 209 Bdesen gy O amd B omy D
8c 0. CD vy nodeasd O god A 80 B0 nde
geo3 @edlom emiens 35° O gmd A 80 @80 nom
fc 883 C cmred gdedines omiencs 40" 8. Ao CD A .

E
On® 80 meom 8. BC w0 DE 8 8o aesl» gbes
30815000 ot B 80 @80 D 8 moediwes omieis 20M
@EWBIB.
B C

(05)

(b)

Bemie D800 ©vd 8 €853 65 ccomnmd gmd OwE 01 giwde eOEE
eS8 c@osion & o 80 BT § 9D w® vlbend €fs’ 80w ez
and oy €8s 88 O 140 a8 § @0 685 1@ obeE cromizn cE.
7@ e3¢ §O Bwe® . 7600 = Se.

(i) ©Oedd @@ cos P53 vam X ¢ 1O 8m ® CIOS €853 e ) ¢
CEE O X ) ) 8Ro® 008 ©dnien GOEHE eI BHOBIB.

(i) 008 ©=dncen gocs BwCedss x 1 y 8 gorns’ edm edH® etNEsID.

3x -2 <7 ges@ivondcs Besenr x 8 Bwd Beog® wodno ebdndm crey ®osio.

(0e)

Som (x + 8) 8o dom 5 I vec whenmientgmic g
20RO8s oo o x O e ®¢dug t
Sewmleas ®mn @ddwe 80 988 emidetd

bodes 5o Sam 50 B of. x 8 goo 5
x* - 10x + 20 = 0 e383C €53 s 205 D 353Dy

890 »0newnsl el §sipdeSs ewd X 8 gow
e wdewmiany DHoHed dUOdEs ©EsiD.

5 =22 eces otm)

02



B e=»0¢es

07) ©@3ad egdum ©e@dm o 4 ¢ 30 02 ven (gdesum wew) 120 ¢ ©8. w®sind ods
8¢ g9 ewiy ©RB,

(1) oog astode eesissis.

(i) 2 &8 odfed nem»s cg@sozmod‘ g OmE B0 REd® 088 ©ede edwne
GENBBIB.

08) con ¢Hedm Hb@ren obdn e cm/mm o8renns ©8m 6o cdws o 2OYD
@ ©wIdmn @O, BB®ren ol o8B0 g€si».

() PQ=6cm, PR = Scm, QPR = 60° & PQR Somiesc S@rescs m3sio,

(i) PQ » QR 8 82 wddedemn RYeeic =5 P, Q ® R 0w wm Oostorxs
BE@rens 3535y,

(i) Q 88 St Hobnmen NY@ress 3 & QR 8 =82 ©®Dedens »POn
cs S eces »® »IsIm.

(iv) SR eb@® 0 Dutmes god B ©0ABAG edn 5B8mO ¢BOBIB.

() RQS 8 qou & 8087 om0 edn w80 Gws caosim.

(09) HE oz Dafmwd ai@ edebomas. EB oband C
0823 AEC emiencs ©:0Ded¢ed. AB = AE ¢
8. FAE =ye FEA = x ¢ OCL O,

i) CﬁG 8 qos x 0 y grgedst eSoOsim.

(i) AFG Sowmiess w@oddwme Sowidenns
DINCISIS NS SN

H A E

(10) cwed PQR 20 RST e HBewles occnsd.
QART =X @d.

(1) PRS 8 806 X g1e3e05’ Basim.
(ii) RQT 8 qos x &183e0s Brsis.
(iii) QRTA = PRSA 39 eosidsis.

(iv) PQRS omogs oS oOncwes 89 eidmes
OB, ‘ X

03



(11

onec 8E8m®ws 2lcm § ¢ ¢ ldcm § ¢ ond wm 88F0des cey B0ed®s3 wx

e®lc 5 = e0em Cred. 0®® §wDBed? s8@OE ednes 8 exwd® D EuBEOH®

21
3[40
29535 €T ¢ROLBNIDBO @eBBIBY.

e20 EOICGD &0 I »H® 1 = D eusld g vend O®) Nders’ T8 o

(12)

Q01 e eED Bem, 0D ®» OB HIV®I ke gy 8gs’ 280 B Acdo
osizn GE um Cied VIR DI ECR0] BoRseHE eWedm gwdyubes Oz
O wumE ¢ed. ofm » OB V@I Bo®WE ® BB s ccesI®
O1O1Bed® o8 Bexy @D @oB8 ®dvens’ sPen O OUNOOD gewed wom GE.
e®® 053 ©dwm 8Os wieom,

O (Y1)

.@0@63 ®dses

(i) o585 ncE®O gy 868 »® wozsim».

(il) o> em0RCT @D G115 BOVes BOBIB.
o  OED BN PO Ben 302D 100 .
° 988 @dvens germ @stm e 140 8.

. 8o @05 o8 VIR H¢IoH & 80 B.
(i) Bo»E @B OHD LIVDICID DO BB1 3DWID Bwe?

@iv) @0@8 ®Qs Bexy 8353 05D BB v 0oHm 8553 @ @z
Qe DO B8 ©1vw V8 Begs3 WD Bwe?

(V) o©g3® Bexo 0@ @B eeens’® OO0 gewtd e gl O8E B.ne s

Bexsy ©0®100 83 30 = 141800 Bed »® edmtd § ¢Hn BEHr edmE 053
G561 @G ¢S 30953 OBIB.

04



£ oei) glnoD ecetimedsind e 6 sbmsée 2019 11 6B O8ne
SEnSt spw
e - A
01.| =290+ 100% 01 16.] 2x22 x14xh=1760 01
30000 7 ~
. ot | o h =20cm 01 | 02
’ 17.] x =5 01
02.| 1g26.5=1.4232 02 y =4 01 | 02
1 18] x-7)(x+7)=0 01
03.| = — 88 o 12 = Tond 57 o1 | 02
80 & - 88 & 36 01 19.] Abc = gs" o
8o 010 — - 88 2 18 o®3 BCE = 65°
x = 85° 02
S8 @ =6 01 | 02 2y 4
1800 20. X 01
04.| —— 01 5 Xy
400 8x
4.5 (38 3m) o1 | 02 — 02
05. 64'x1 01 21.| ADB =90
5 o3 OAB = 50° 01
= o1 | 02 A = 40°
I e®d BAD = 40
A 0
06.| BED = 100° 01 0AD=10 0l | 02
CﬁD — 40° 02 22.| DE= l2§:m 2 2 01
07| a2 ex»d AD"+ DE"=AE
RV TEXEXY AE = 13cm 02
xy=x Xy 01
3V =3x X XV 23. 58[68 253 @¢O 01
Y Y ROGE 0 aons @ B8O o1 | 02
2 2
12x y 02 {124.| ABC =90° 01
08. T);)— = c0s 60 01 CAB = 30° 01 | 02
x=5cm 01 | 02 |]25.
09.| ar’=135 01
10.| 2x*-4x+3x-6 01
(2x +3) (x - 2) 02 . . ,
11. A\ 7 v B
—}
8
028 em0emO G | 85 02 X
1 AB 8 c82 wededema cre 880 (]
12| == x6x4x12 01 AC=3cm ox o682 C ey 86 | 01 | 02
144cm’ o1 | 02 50
13.] x+2x+2x=180° 01 IeOs - B
x=36 01 | 02 7 N
14.| goom : (2,3, 5) } o 0@ @ =~ o (V)
abcfg &0 : {1, 4} (ii) 9OFw>e @des
2 7 1
2 = —— o —
- 0 g Fa| U
15.| =- 01 - L 01
40m (min)" 02 16

(01)



TR BES BNBD 6LEDeSBND e )6 ubmedHa 2019 11 6B e o)
B8EnSt BY
200 83 em0e ) 0 .
1 1 ) 03| x 75 =150 1+1{ 02
AR 180
8 16/1 01
13 (i) mozsen Brw 100D §LC
= — 01 04
1 oiens X 5®
o X+ 2x + 4x + 150° = 360" 01
(1i1) 6 50cm x=30° 01
B 2x=60° 01
6 VX o1 4x =120’ 01
(i) 30° 20 acc Busd veam
180
12-10) 11 = x 30
2,5 o = 15 01
15 11 Beyz 10 © ewdescs =20 01
323— 01 | 03 - omiems =30"+20°
10 =50 o1 | 03
) 10
02 | (i) aBcg 1 20 ewBw =
4 1 22 7 7
= g7. 5000000 x —— 04 Loy L Lx— +
1 100 01 (1) > X 5 X 3 X > 1+1
= & 200000 01 19.25¢m’ 01 03
iy - 7+cpy7=2L x6 141
agowg 5 © ewEa 2 4
= g7. 200000 x 5 CD = 26cm o1 | 03
=g 1000000 01 @ o 2 7
(iil)) — X2 X =— X— 01
(i) o7 5000000 + 1000000 ]2 7002 oo
1 0
G2 6000000 01 | »! e
(iv) (11 +7+26+20.4)cm 01
64.4 01 02
iy, 6000000 ol em 0
’ 60 pre——
Gt. 100000 01] 021105] () Bobened gdwsd ... 02
oEna S50
(iv) Bor @¢g g¢e 8
— .. 5000000 x === | 01 T 02
100 3
=& 1250000 01 (i) A 4 01
VAT @¢ 8¢ 5 —_
10 4 4
=g 6250000 X —— ot T
100 1
= &7 625000 01 = o1 |03
‘ A 0
g0 Gec =St 5000000 (c. 01) 4
+ 1250000 + 625000 & i b ox L L 141
= 61 6875000 o1 | 85 54 5
2 o1 | 03
10 5 10




\\ ‘L'l@

g BE)S Bamcy cgEbneddnd  emdw o sbxedie 2019 11 6@ ohio
BEmcs s
Il 6208 - A
01 s -
(i) 57.5 x 60.cws 58 x 60 01
3450 ewd 3480 01 |02
... 480 ,
(iif) 1200 x 100% 01
40% 01 | 02
10
03 | (a) eweq e =t 40 x 20000
e®3
= g1 800000 01
Co0® 160® =0t 20000 x5
e®3
=g 100000 | 01
©cdm @1ve® ewrqd 8¢C
=g, 20000 x 50 + 100000
o]
(i) B0TE quiedcO 01 COS emide ©eD
BO1GR cres 6 20 01 _ 1100000
600 Do 01 |03 55
=Gy 01
(iii) -5 80 0 e cnerd O8ed 01 - o - Ca@)dl 20000
&0 3¢
0 80 4 e O D18ed 01 |02 = 61, 20000 x 8 &
(iv) y=(x-2)'-5 1+1 | 02 = &1 160000 | 01
W) o gee x=4.3 01 00t BRHe®s c o g
_ B =gz 20000 x 60
y=08 x-2=1\5 = 61 1200000 01
43-2=15 G = 120000 + 160000 - 800000
23=\5 01 |02 | 1. = 560000 01
_1__—0— b) caos e s 115
o) ® =) = 1200000 x——x —— | 0l
02 22%2?% é:@car(’x) e?m()d)ms ® (rmbm s — 1587000 100~ 100 01
10-24 17 -45 2 90 -
25-39] 32 -30 5 -150 cwa = o1 387000 01
40-54| 47 | -15 10 150 10
55-69 0 12 0
70 -84} 77 15 8 120 04 D
85-99| 92 30 3 90
Sf=40|Zfd=-180
° L
(i) ®dsmB =62 - —15%9- 01 A i%u E
50
=62-4.5 20cm
=575 )
40
=58 01 B X C
®n gos | 01
fd| o2 Gt e0went O ¢Bmes
stdl o1 | 06 e®ni D108 BH® 01

(03)



L8 5E13 GamsD eLokuedsnd  ewd 010 comeds 2019 1 6B ofos

BEnd: sp®
X 07({ @@ Tn=a+(m-1)d
20 =tan 50 01 120 = 4 +29d 01
x=20x1.1918 ows 01 Cd=4 01 | 02
=23.8m e»3 24m 01 30
% — tan 35 01 (i) S, = > (320x4+29x4) 01
y=24x0.7002 _ 01 e®] > (4 +120)
= 16.8048 = 1860 o1 | 02
=17m 01 ‘
_ DNEHE QeS¢
CD =37m 12,24, 36, ... 120 | 01
A CDh 37
tan DBC = BC - 4 01 ¢ e 10 30 vgxn oN® | 01
10
=1.5416 ew$ 1.5417 01 S, = KX (12 +120) 01
A
DBC=57"2 01 =5x132
10 = 660 01
@88 ©¢dE edwne
05| (a 80x+ 140y =7600 02 =1860 - 660 01
x+y=65 01 = 1200 01 | 06
4x + 7y =380 o 10
4x +4y =260 01
3y =120 01
y_40 0l 08| (i) PQ=6cm 01
Y= PR = 5cm 01
x=25 01 QPR = 60° o1 | 03
(b) 3x -2<7 (i) PQewo QR c®2
3x <9 01 ) e®Pedecm OGO | 1+1
x<3 01 Dardcs0 01 | 03
pef———— e t———> (i) Q8 2 &€ debumsd
SQ eesbamas @853 SR ¢ 1+1] 03
06| (x+8)5- —— x*=50 1+1 dobiemed
. A (iv) 60° (Smoms et DedDed
x-10x +25= -20+25 01 10
x-57 =5 01
x-5=+5
x-5=+422 01
x =5+22
= 72 e} 2.8 01
x < 59853
x = 2.8cm 01
o = 10.8 01
Obwdcs = 5x10.8 01
oo S 54 01
10

(04)



- - www.mathspapers.info - -

tal 561 Tlmon 6ok0edtad | eodw D0 coweda 2019 1 eg@e | oo

8ok oo
09 | ) AEF =FED 01 21\ 4
. Rl = — 3
ARD & 11 { () n(z)x14 5x3m
EF e®ded¢ms o83 8E:305@d 8890 01
A
ADE = 180 - (2x +y) 01 eolced o8& 5 =f e B6OP 01
ABE =AEB = x (AB = AE) 01 8z BB o1
A A A
CBG + GBA = ADE (@085 & e
‘ gton. ©083.¥) 1+1 0 - r 01
- CBG = 180-(2x+y)-x ’1 J
= 180-3x-y 01 =T
R X 3J40
(i) DAE =ACE = y (dmstns 1
Dt Qedded ¥ ) 1+1 lgr = lg21--§- 1g 40 01
AFG = FAE + FEA (2:80 X 1 '
= 1.3222- = x 1.6021 | 1+
qos. ©®8a X ) 01 3
= ytx 01 = 1.3222-0.5340
FGA = GCE + DEG (2080 ¥ = 0.7852 01
goxs. o982 X ) r=6.14 01
.. APG=FGA =6.lcm 01
.. AG =AF 12
. AGF s@d8o ob. 10
10| TRP = 60-x ol eso |
PRS = TRS -(60-x) ®s
= 60 - (60 - x)
=x 01 | 02
(i ROT+x = Ris o1 288 @0
ROT = 60-x 01 |02 () B0 Bexo mema »® 888| 01
(ii) 100, 140, 80 BT HdE 04
(ili) QRTA »3 PRSA esco=3n. 28 860 (o 1+1+1)
QR = PR (PQRA o®w¢ @18=1) 01 (ii) 60 01
TR = SR (TRSA e@m¢ a8=3) 01 (iv) 20 01
TRQ = PRS = x s00me 01
.. QRTA = PRSA (ex.@3.200. (iv)
. 4DeE3D) 03
(iv) QRS =x + 60" 01
A a ' B¢z | F odary
TQR=RPS =60 -x 05 ®0®
(@o0e3® Benlede 853010 o] 01
.. RPS=60-x él@o
. QPS=60+60-x=120-x 288 S0z
A
QRS +QPS=120-x+60-x 30, 50 BGE 28 O;
= 180" 01 Bacde HOTE 28 021
. ®8a omies o8uom @8. 1=0
-, PQRS Da58n OnogeSs. 03
-
)
- .J t— -J e — e e e e
O3 ‘

QR0 s Susgd ien 29 259 ( Mathspapers.info ) 625k 2222 @Anh


https://mathspapers.info/
https://mathspapers.info/
https://mathspapers.info/

